IN THE MATTER OF TRANSFERRING OF BUDGET SURPLUS OF FORT BEND COUNTY FOR THE YEAR 2019

On this the 3 th day of	NOV.	2018/2019	, the Commissioners	' Court, wit	h the following	g members being preso	ent:
	Robert E. Hebert Vincent Morales Grady Prestage Andy Meyers James Patterson	- ·	County Judge Commissioner Preci Commissioner Preci Commissioner Preci Commissioner Preci	nct #2 nct #3			
The following proceedings	were had, to-writ,						
THAT WHEREAS, thereto and	ofore, on September	11, 2018, the	Court heard and ap	proved the b	oudget for the	year 2019 for Fort Ber	nd County;
WHEREAS, on proper app fund. The transfer does not			urt has transferred a	n existing b	udget surplus 1	to a budget of a simila	r kind and
The following transfers to s	said budget are hereb	y authorized	:				
Department Name:		JP1-2		Accour	nting Unit:	100455200	
TRANSFER TO:							
ACCOUNT NAME		ACCOUNT	NUMBER			AMOUNT	
Property & Equipment		11000011	64000		\$	741700171	6,635
Property & Equipment			64000		\$		3,490
TRANSFER FROM:		TOTAL	TRANSFERRED 1	······································	\$		10,125
ACCOUNT NAME		ACCOUNT	NUMBER			AMOUNT	
Non-Departmental Contige	ncy	ACCOUNT	NUMBER		\$	AMOUNT	6,635
JP1-2 Technology Fund		R455-JCTI	F12-Y2010		\$		3,490
	т	OTAL TRA	NSFERRED FRO		\$		10,125
	•	OTAL TRA	INSTERNED FRO	171.	Ψ		10,125
EXPLANATION:						The open position nec	
additional modifications who							
best work environment wou overloading the power syste							
modifications. I will use mo							101 tile
Department Head: Ma	0.1	ind O	uko	Date:	1/.	nber 820)/8
		SE WHOLE	DOLLAR AMOU	— INTS ONL	V ***	, , , ,	<u> </u>
	O.	<i></i>	DOLLAR AMOU	ATTO OITL			
THE COUNTY OF FOR	T BEND		+		GI	Transfer	
BY:		ehur k	Libert		AC	C Transfer	
Robert E. Hebe	ert, County Judge						

PROJECT #:	4660		PROJECT NAME: GENERAL PROJECT
			712 667 6660 DATE 10/29/18 TNV # 27098-0
CARROLL'S OFFICE	FURNITUR:	E	713-667-6668 DATE 10/29/18 INV.# 27098-0 FAX: (713)667-3344 SALESPERSON FRANK CARROLL
5615 S RICE AVE HOUSTON	TX 7	7081	WRITER FRANK CARROLL PAGE # 1
			QUOTE CUSTOMER PO # SHIPPING ADDRESS PCT 1 BUILDING BEING HELD
301 JACKSON RICHMOND	TX 7	7469	1517 EUGENE HEIMANN CIRCL RICHMOND TX 77469
CUSTOMER PHONE #	281-341-	3759	FAX # 281-341-8642
Thom Number	Mfa	Produc	Quantity Unit Extended of Description Ordered Price
			LAURA DOUGHERTY 281.633.7017
		CHOICE	E PARTNERS CONTRACT# 18/015KC-01
EVPFA4230	EFG	42"h x	c 30"w, Segmented Fabric 3 176.561 529.68 Acoustic Panel
		Option	n = ~STD Standard Paint Options n = ~STD Panels w/ Matching Horizontal Reveal
			n = CHR
		-	n = ~GRl Panel Grade 1 n = Ol Outside Position l
		Option	n = TC Terrace [MAX PANEL WIDTH 48"w]
		_	n = TC62 Shadow
		-	n = ~GRl Grade 1 Fabrics
			n = O2 Outside Position 2
		_	n = ~TC Terrace [MAX PANEL WIDTH 48"w]
		Option	n = TC62 Shadow CONTINUED

PROJECT #: 46	60 		PROJE	CT NAME:	: GENERAL PR	OJECT	
CARROLL'S OFFICE F 5615 S RICE AVE HOUSTON		77081			DATE 10/29 SALESPERSO WRITER PAGE #	FRANK C	# 27098-0 ARROLL ARROLL
CUSTOMER # 46 BILLING ADDRESS FT. BEND COUNTY AU 301 JACKSON RICHMOND		Г		OTE	CUSTOMER PO SHIPPING PCT 1 BUILD 1517 EUGENE RICHMOND	# ADDRESS ING HEIMANN	
CUSTOMER PHONE # 2	81-341	-3759 FAX	# 281-3	41-8642			
Item Number	- Mfq	Product Des	scription	~	Quantity - Ordered	Unit Price	Extended Price
		Option = ~(Option = ~(Option = ~(GR1 L FC C62 GR1 2	Grade 1 Inside P Terrace Shadow Grade 1 Inside P Terrace		TH 48"w]	
EVPFA4242	EFG	Option = ~{	Acoustic STD STD Reveal HR Horizont GR1 I TC	Panel Standard Panels w Charcoal al Reveal Panel Gr Outside	ade 1 Position 1 [MAX PANEL WII	izontal	216.67
		Option =	GKI	Grade I	PADLICS		CONTINUED

				•		
PROJECT #: 4660)	PROJECT	NAME:	GENERAL PRO	JECT	
CARROLL'S OFFICE FUE	RNITURE	713-667-66 FAX: (713)667	668 -3344	SALESPERSON	I FRANK C	ARROLL
5615 S RICE AVE HOUSTON				WRITER PAGE #	3	CARROLL
CUSTOMER # 4660 BILLING ADDRESS FT. BEND COUNTY AUDI	DEPT		E		# ADDRESS	
301 JACKSON RICHMOND	TX 77469			1517 EUGENE RICHMOND		
CUSTOMER PHONE # 283	341-3759	FAX # 281-341	-8642			
Item Number	Mfg Produc	t Description		Quantity Ordered	Unit Price	Extended Price
	Option	= 02	ntside Ferrace [nadow rade 1 Ferrace nadow rade 1 Ferrace nadow rade 1 Ferrace nadow	Position 2 [MAX PANEL WIDT Fabrics [MAX PANEL WIDT Fabrics position 2 [MAX PANEL WIDT	TH 48"w] TH 48"w] TH 48"w]	
EVPFA4224	Option Option Option	Reveal CHR CH Horizontal SGR1 Pa	anel candard anels w/ narcoal Reveal anel Gra	Paint Options / Matching Hori w/ Charcoal		760.41 CONTINUED

PROJECT #:	4660		PROJECT NAME	: GENERAL PROJECT	
					II 07000 0
CARROLL'S OFFICE	FURNITUI	RE 71 FAX:(.3-667-6668 [713]667-3344	DATE 10/29/18 IN SALESPERSON FRANK	7098-0 CARROLL
5615 S RICE AVE HOUSTON	TX '	77081		WRITER FRANK PAGE # 4	CARROLL
CUSTOMER # BILLING ADDRES	4660 DEP		QUOTE	CUSTOMER PO # SHIPPING ADDRES	
FT. BEND COUNTY			BEING HELD	PCT 1 BUILDING	
301 JACKSON RICHMOND	TX '	77469		1517 EUGENE HEIMAN RICHMOND	
CUSTOMER PHONE #	281-341	-3759 FAX #	281-341-8642	~ ~ ~ ~ ~ ~	
Ttem Number	Mfg	Product Descr	iption	Quantity Unit - Ordered Price	Extended Price
				[MAX PANEL WIDTH 48"w]	
		Option = TC62	Shadow	[PMA PMMED WIDIN 40 W]	
		Option = ${}^{\circ}GR1$	Grade 1	Fabrics	
		Option = 02	Outside	Position 2	
		Option = ~TC	Terrace	Position 2 [MAX PANEL WIDTH 48"w]	
		Option = TC62	Shadow		
		Option = ~GRI	. Grade 1	Fabrics	
		Option = I1	. Grade 1 Inside F	Position 1	
		Option = ~TC	Terrace	[MAX PANEL WIDTH 48"w]	
		Option = TC62	Shadow		
		Option = ~GR	. Grade l Inside F	Fabrics	
		Option = I2	Inside F	Position 2	
		Option = ~TC	Terrace	[MAX PANEL WIDTH 48"w]	
		Option = TC62	2 Shadow		
EVWCEL422466	EFG	42"d1 x 66"w Ct	x 24"d2, Extend arved Corner Wor	ded 1 312.498 rksurface, 3m	312.50
		**	Thermall nickness)	ly Fused Laminates (1"	
		Option = GRX	Grey Mat	crix	
		Option = CHR	Charcoal	L	CONTINUED

PROJECT #: 46	 6 0	PROJECT NAME: GENERAL PROJECT	
			
	JRNITUI	RE 713-667-6668 DATE 10/29/18 INV.# 2 FAX: (713)667-3344 SALESPERSON FRANK CARROL	i.
5615 S RICE AVE HOUSTON	TX '	WRITER FRANK CARROL: 77081 PAGE # 5	
	60 DEP	QUOTE CUSTOMER PO # SHIPPING ADDRESS PCT 1 BUILDING BEING HELD	
301 JACKSON RICHMOND	TX '	1517 EUGENE HEIMANN CIRCL	
CUSTOMER PHONE # 2	81-341	-3759 FAX # 281-341-8642	
Trem Number	Mfa	Quantity Unit Exte	e
		42"dl x 66"w x 24"d2, Extended 1 312.498 31 Curved Corner Worksurface, 3m Option = ~TF Thermally Fused Laminates (1" Thickness) Option = GRX Grey Matrix Option = CHR Charcoal	
EVWS2448	EFG	24"d x 48"w, Straight 2 100.520 20 Rectangular Worksurface with Scoops, 3 Option = TF Thermally Fused Laminates (1" Thickness) Option = GRX Grey Matrix Option = CHR Charcoal	1.04
EVE8PD42 E	EFG	42", Power Distribution 9 86.458 77 Housing	8.12
EVESPD48	EFG	48", Power Distribution 8 93.229 74 Housing	5.83
EVE8CP20 {	EFG	20" - Jumper Cable, 8 57.291 45 CONTI	58.33 NUED

PROJECT #: 46		PROJECT NAME			
CARROLL'S OFFICE F	URNTTURE		DATE 10/29 SALESPERSO	/18 INV. N FRANK (CARROLL
5615 S RICE AVE HOUSTON	TX 77081		WRITER PAGE #	6	ARROLL
CUSTOMER # 46 BILLING ADDRESS FT. BEND COUNTY AU	60 DEPT	QUOTE BEING HELD	CUSTOMER PO SHIPPING PCT 1 BUILD	ADDRESS	
301 JACKSON RICHMOND	TX 77469		1517 EUGENE RICHMOND		
CUSTOMER PHONE # 2	81-341-3759 FAX	# 281-341-8642			
Item Number	- Mfa Product De	escription	Quantity - Ordered	Unit Price	Extended Price
		Panel-Post-Panel			
EVE8PD24 {	EFG 24", Power	r Distribution Housing	3	59.375	178.13
EVE8FR1 E	EFG 72" Long,	Reversible Floor Power Entry	1	134.374	134.37
EVE8FR2 E	EFG 144" Long,	, Reversible Floor Power Entry	1	173.957	173.96
EVE8CP16	EFG 16" - Jump	per Cable, Panel to Panel	. 8	49.479	395.83
EVDPE64	EFG 64"H, Post	t Extension - Data/Comm Lay-in		66.145	132.29
	Option = Option = O		Paint Colors		
EVE8RD1 E	EFG #1 Utility	y Circuit, Duplex Receptacle, Black	8	12.500	100.00
		neceptation, bias	-		CONTINUED

PROJECT #: 4660)		PROJECT	NAME:	GENERAL PROJ	JECT	
		. 					
CARROLL'S OFFICE FU	RNITUF	RE 7 FAX:	13-667-66 (713)667-	68 3344	DATE 10/29/3 SALESPERSON WRITER	FRANK C	ARROLL
5615 S RICE AVE HOUSTON	TX 7	77081			PAGE #	7	
CUSTOMER # 466 BILLING ADDRESS FT. BEND COUNTY AUD				3	CUSTOMER PO : SHIPPING A PCT 1 BUILDI	# ADDRESS	
301 JACKSON RICHMOND		77469	BEING HE		1517 EUGENE : RICHMOND		CIRCL TX 77469
CUSTOMER PHONE # 28	1-341	-3759 FAX #	281-341-	-8642			
		Droduct Desc	 rintion		Quantity - Ordered	Unit Price	Extended Price
					8		
EVE8RDA E	EFG	A, Dedicated	Receptacle,	Black	J		
EVE8RD2	EFG		Circuit, Du Receptacle,	plex Black	6	12.500	75.00
EVHC24L	EFG	24", Left, S Option = BL	Single Cant K Bl	ilever ack	6	45.312	271.87
EVHC24R	EFG	24", Right, Option = BL	Single Can K Bl	tileve ack	r 6	45.312	271.87
EVHCB2	EFG	Corner Brac	(Pair)		ht 8	10.937	87.50
EVS1223BBF	EFG		Pedestal, Freestandin	ack	2 Orksurface Supp Paint Colors	240.103 orting	480.21
		Option = ~S Option = CH	_	andard			CONTINUED

PROJECT #: 466	0	PROJI	ECT NAME	: GENERAL PRO	OJECT	
CARROLL'S OFFICE FU	RNITU	RE 713-66' FAX:(713)	7-6668 567-3344	DATE 10/29, SALESPERSO	/18 INV. N FRANK (# 27098-0 CARROLL
5615 S RICE AVE HOUSTON	ידצ	77081		WRITER PAGE #	FRANK (CARROLL
CUSTOMER # 466 BILLING ADDRESS FT. BEND COUNTY AUD	0 DEP	T Qı	JOTE		# ADDRESS	
301 JACKSON RICHMOND	ΤX		G HELD	1517 EUGENE RICHMOND		
CUSTOMER PHONE # 28	1-341	-3759 FAX # 281-	341-8642			
Item Number	Mfa	Product Description	1	Quantity - Ordered	Unit Price	Extended Price
EVS1223FF		23"d, F/F Pedestal Freestar Option = ~STD	, nding or W Standard	2 Jorksurface Supp l Paint Colors	240.103	
EVHPB1	EFG	Option = CHR Pedestal Bracket Option = ~STD Option = CHR	Standard	4 Paint Colors	12.500	50.00
EVPCPA342	EFG	42"h, 3 Way Post, Post, H Option = ~STD Option = ~STD	ardware & Standard	Aluminum Trims I Paint Colors		505.21
		Use w/	Matching	Horizontal R		
EVPCP442	EFG	42"h, 4 Way Post, Post, H	ardware &		119.270	238.54
		Option = ~STD Option = ~STD		l Paint Colors ors w/ Matching	Inlines	CONTINUED

PROJECT #: 46	60 	PROJECT NAME	: GENERAL PROJECT	[
5615 S RICE AVE	TX 77083	713-667-6668 FAX: (713)667-3344	SALESPERSON FRA WRITER FRA PAGE # 9	ANK CARROLL ANK CARROLL
CUSTOMER # 46 BILLING ADDRESS FT. BEND COUNTY AU 301 JACKSON RICHMOND CUSTOMER PHONE # 2	60 DEPT DITOR TX 77469	BEING HELD 9 FAX # 281-341-8642	CUSTOMER PO # SHIPPING ADDI PCT 1 BUILDING 1517 EUGENE HEIM RICHMOND	RESS MANN CIRCL TX 77469
Them Number	Mfa Prod	ıcr Description	Quantity Uni	t Extended ce Price
		(Use w/ Matching on = CHR Charcoal	Horizontal R	
EVPERA42	Opti Opti	, End of Run Post, Includes Post, Ha on = ~STD Standard on = ~STD Connecto (Use w/ Matching on = CHR Charcoal	ardware & Aluminum T N Paint Colors ors w/ Matching Inli Horizontal R	nes
EVPIC42	Opti Opti	, Inline Panel Connector Includes Post & Formation on = ~STD Standard on = ~STD Inline (Matching Horizont on = CHR Charcoal Matching Horizont	Hardware, No T d Paint Options Connectors (Use w/ cal Reveal) d Inline (Use w/	729 92.19
EVCPP01 E	EFG Powe	r Pole Pins	1 26.	042 26.04
EVE8RDB &	EFG B, D	edicated Circuit, Duple:	3 12.	500 37.50 CONTINUED

PROJECT #: 4	660		PROJECT	NAME:	GENERAL PF	ROJECT	
CARROLL'S OFFICE 5615 S RICE AVE HOUSTON	FURNITU:	RE F	713-667-6 AX:(713)667	668 -3344	DATE 10/29 SALESPERSO WRITER	9/18 INV. ON FRANK (FRANK (.# 27098-0 CARROLL CARROLL
CUSTOMER # 4					CIISTOMER PO		
BILLING ADDRESS FT. BEND COUNTY A					SHIPPING PCT 1 BUILD	3 ADDRESS	
301 JACKSON RICHMOND	TX	77469	BEING H		1517 EUGENE RICHMOND		
CUSTOMER PHONE #	281-341	-3759 FA	X # 281-341	-8642			
Item Number	Mfa	Product	Description		Quantity Ordered	Unit Price	Extended Price
			Receptacle				
EVWS3090	EFG	Option = Option =	0"w, Straight	r Worksı nermally rey Matı	2 urface with So y Fused Lamina	coops, 3	584.37
EVH8RA01 E	EFG	Raceway	Opening Adapto Reduces the			38.541	154.16
INSTALLATION			CHARGES THE DELIVERY A USINESS HOURS			985.000	985.00
Deposit Requirements	progres	s payment	00.00 require will be requiredue one (1)	ired for	r all orders	\$10,000.00.	0%
=======================================		======	=========	=====	=======	=======	========
PROPOSED BY	L Con	el	D.F.	TE	6-29-18	SUBTOTAL	10124.54
ACCEPTED BY	******		D <i>F</i>	ATE		TOTAL	10124.54